
SAP ABAP table T5ITP1 {Social Security fund}

T5ITP1

MANDT [CLNT (3)]

CDFON [CHAR (4)]

ENDDA [DATS (8)]

WTPDI  [CHAR (4)]

WTQAZ [CHAR (4)]

CDCAL [CHAR (4)]

WAERS [CUKY (5)]

T000

MANDT [CLNT (3)] T5ITP1-MANDT = T000-MANDT 0..N

0..N

T512W

MANDT [CLNT (3)]

MOLGA [CHAR (2)]

LGART [CHAR (4)]

ENDDA [DATS (8)]

 T5ITP1-WTPDI = T512W-LGART 
0..N

1  T5ITP1-WTQAZ = T512W-LGART 0..N

1

T5ITP3

MANDT [CLNT (3)]

CDCAL [CHAR (4)]

MEVER [NUMC (2)]

ENDDA [DATS (8)]

 T5ITP1-CDCAL = T5ITP3-CDCAL 

0..N

1

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 T5ITP1-WAERS = TCURC-WAERS 

0..N

1


